FEF B INRR M EISE T 5

YR%294E09 H 22 H 4y

1/2

HZERME B ) ]

TEF B NaR HL 5 S s s e %

REF )UK B @)
BZRMMBHRTEEAE S OXE2EOHBRICLY, TROLBVHE L4,
Be | o o HE N - BEEmE ] -
a— R i 4 ER | B (kg)  &EFD) =i HiE wm | E (BT
Y3002 =7 (&) 1 1,134| 1,620 1,620 324/ BN 1kg |
31900 X 3] 3,715| 1,296 1,080 1,080 BN 3kg
Y3033 2T 82 4,832 140 32 Y 82kg
37200 | L.x 928 3 1, 264 540 540 432 BN 3kg
34800 < & 2 1, 588 76 6 76| B 21% v k
39350 ANET 9 1,539 22 16 16 BA 85(H
49100 NFF 19| 4,104 1,728 1,728 648 | BN 3K
71030 | RS &F 5, 238 65 59 54| BN 904
71032 RS€F () I} 4,536 65 65 54| BN 754 ’
71040 ENE 918 97 97 86 | B 104
71150 | LIF 3, 629 130 130 130 &N o8 |
71286 Zwu—aL 7,776 162 151 151 | BH 507 |
53101 |1E L KIR L 1,080 1,080 1,080 1,080 BN 1kg
30100 75U\ Z A 2L 240 35, 122 194 194 151 dt#EiE 2007
30300 A% L 240 26,784 1,620 972 918 | ItiEE 244 — =
30400 ~IF 5 L 20 2,160 1,080 1,080 1,080 FEF 5 29—
30600 LA Z A 8| 648 324 324 324 £ 20— A
31100 M3 M 60 9,288  2,700| 2,700 1,620 E&F A —=
33500 45 &% L 1l 583 9] 19 19 @M@ 1243
33810 ML 4 2,592 | 130 130 130 | EE R B 20% |
31700 % % X 150 20,628| 1,620| 1,296 1, 188|REA 155 —% |
31800 1E 95 MAE 12 9, 040 173 140 140 BEIR 5 594
31950 Hhx 18 2,592 756 324 324 | P [E 64— 2
31900 f¥ L 5 5,400 540 540 540 B & 103K (500g)
31930 Zhx 12 14, 256 130 130 108 | 1& [ 12048
34300 723 2L 10 5,400 2,700 2,700 2,700 FEA 9h— 2
34300 72 2] 6,372 1,620 1,620 1,566 |BEA 44—
34400 k= b 24 13,392  2,592] 2,160 2,160 BEA 6 —2A
34400 k= R M 12 10,692  3,564| 3,564 3, 564 |fEA 34—
34100 - #A/I 60 17, 820 1,728 1, 458 1,404 IR B 12r—= |
34100 #1/K L 15 8,748 2,916 2,916 2 916 RS 34—
34200 I 30 3,996 162] 119 119 | dbgE 30kg
34500 E— 1 8 2, 160 86 86 86 | EI 254%
34571 XU H (GR) 1 1, 069 119 119 119 |8 [E 9
34572 TV H (E) 1! 1, 458 162 162 162 &[H 91A
36200 % 3L 200 10, 152 | 648 432 432 | gE 204 — X
36200 A% 2L 50 11,880 | 2,376 2,376 2,376 dcfEE BAr— 2
36600 7-Er X 120 11,016 2,160 2,160 1,620 tiEE 64 — A
¥3027 Ly Righe A3 A648 0 0 Ol==—v— A3l |

ZA R
Y3027 Ly Ri-fh¥ 3] 108 | 108 108 108 == —2— 114
| TR




04 | we | B AR 72 i a 2H
=g X B4 s MR (o) | R wE | omE | wm | EH (Hf)
33400 L& % 12| 4,147 173 | 173 173 | B 24(H
32900 A U— | | T2 q02] 318l a8 324 | E B ok
33600 <t U ’ 1| 1,285 270 270 238 | K4y oAR
33300 Fmy Y — 3 1, 069 119 119 1197 AUH 9 |
38100 A& LWild : 0 7,700 86 81 65 | T 9880 s
31310 ATH 2 1, 069 97 97 97 | ¥l =
31500 /A 12 4,968 86 86 76 | & 604 %
31500 /A 4] 2,376| 2,376] 2,376 2,376 | ERE 1r—= |
32500 | HoiE 9 2,138 119 119 119| K45 18%
37560  3BRIE 1 5,778 436 432 432 | k% 135y 25
38400 X O EE 5 1,836 1,836 1,836 1,836 Bl ==
38400 A D EH 15 2,808 22| 17 17 ERE 15058 ]
38521 SR LHUE 3 1,069 36 36, 36 | f& i 3048
Y4008 7 R IrAA 7 3, 888 162 162 162 |8 2473 7
40400  EAERM B0 A M 50 9, 720 1,944 1, 944 1,944 |EEIR & 54— A
Y4016 Hon 5B 80 12,204  1,620] 1,620 1,404 E&F 84—
43613 RAEFHMNX B R 90 7,776 864 864 864 | 1& i 9 —2
Y4020 72 LA 45 14,256 | 2,700 2,484 1,620 FuaKL 67r—A |
49100 SFF 120 16,848  2,376] 1,620  1,296| 71 U EL 104 —2A
Y5006 5P (B4h) 110 33, 448 3,154 3,110 2,948 |EIR B 11— &
Y5006 B8R (B44) E 56 15, 228 198 198 168 |RELR B 80,5y 7 |
ait 2,071 424, 424

2/2



